a G At 2<a<22 W, Sa-2)2- /(a+2)? 2
Zrs] sh?

Do @ -2a-4 ® -4

(@)—Qa ® 2a




V2= VB)2+ /(2 + VB)? € A& 2heha] shlo

@ V5 @ 0 @)2+5
@ 4 ® 2V5+4

B

V5 >20|B2
V(2= VB2 4+ /2 + VB)2 =2+ V5 +2+ V5
=25




3. 3<x<ad /B-x?- V-4 & el g

O 2x-1 @ 2x-3 ® 2x-5
@)2x -7 ® 2x-9

3—x<00°Lx-4<00]B2
(F=A)=—0B-x)+(x-4)=2x-7




4. x>1¢ o, \/(x—l)Q—\/(l—x)294§};—‘9:—.:r’-8]-O:]a]-_

> E

> He: o

x>10B82 x-1>0,1-x<0
@H) = (-1 - {-(- )
=(x-1)-(x-1)=0




5.

x>29 M, g5 /(x-2)2- /(2-x)% 9 27

-2 @1 G @ 1

x>20|B2 x-2>0,2-x<0
(@) = (-2)- {-2-0)}
=(x-2)-(x-2)=0




6. 0<x<5 A, Vx-5)2- /(527 & Heal el

x-5<0°]B2 /(x-5)2=—(x-5)

L(E)=-(x-5)-5-x)=-x+5-5+x=0




2 <x <59 A5 x ol dste] /(x4 2% + /(x-5)° & 2]
sholet.

> &

> ®™et: 7

—2<x9BR2 x4+2>0,x<5°9B2 x-5<0
L(EA)=x+2-(x-5)=7




8. 1<x<3dd -3+ /r1)? & 2 shofe,

> E

> H™eh: 4

VE-37+ e+ 1) =—(x-3) +x+1
=4




9. 2<x<5 < -2+ /x-5)7 & X8 sfefer

> E

> H™eh: 3

x=2>009]2, x-5<0°|BE2
(%é})=x—2—(x—5)=3




10. 0<a<1 ¥, Va2 + /(a-1)% & 7tH3] 5lojet,

> E

> ®™et: 1

a>00°]82 Va2 =aq,
a<lolB® \/f(a-12=-(a-1)=1-a
ot Va2 + \/(a-1)2=a+1-a=1°]h




11 0<a<19u, a-1)° - /(1-a) & 2359 s,
=3

>
l> pal= 0

okl =

O<a<19M,0<1-a<1°]BEZ t}&o] A}

\/(a_l)z_ \/(l—a)2 —(e-1)-(1-a)
—a+1-1+a=0




12. 0<a<1¥9d, Va2- /(a-1)2 & 7teHs] sFA?

@ 1
@2(1—1 ® 3

O<a<19Ma>0,a-1<0

Va2 - \/la-1)2=a-{-(a-1)} =2a-1




13. 0<a<29d . /(a-2)+ /(2-a)? & T3] 5102

D)-2a+4 @ 2a+4
@ 2a-4 ® -2a

® —2a-4

0<a<2o]¥H

2<a-2<0, 0<2-a<2°|2&
V@ + @=ap
=la—-2[+12-d
=—(a-2)+2-a=-2a+4




14. -3<a<0d ™. (-a)? - /(a+3)? & s] sp4?

D)—2a -3 @ -2a+3 B® -3

@ 2a-3 ® 2a+3

3<a<0¥9 W a<0°]2a+3>00|th

V(=a)? = /(a+3)> =|-d-la+3]
=-a-(a+3)
=-a—-a-3
=-2a-3




15. 0<a<1 ™, /I-a)?- (a-1)? & 23] sha?

@o @ 2 ® 2a-2

@ 2a+2 ® —2a+2

0<a<l1l9B2a4-1<0,1-a>0

VA=aP - /@=1F = (1-a) - {~(a- )}

=1l-a+a-1=0




16. -3<x<349d, 2/(x-3)2- /4(x+3)? = 3] ofH?

@—436 @ -2x-6 30
@ 6x ® 6x+6

B

—6<x-3<0,0<x+3<60°]2=
(Fo17 A) = —2(x-3) - 2(x+ 3)
=-2x+6-2x-6
= —4x




17. 2<x<3 9, /(=37 + AT -2 & Zeo] of?

@x+1 @1 ® x-1

@—Qx—i—l @2—)(;

B

2<x<3°Ax-3<0,1-x<0
V(x=3)2+ /4(1 - x)?

= /(x=-3)2+ /22 x (1 - x)?
=—(x-3)-2(1-x)
=—x+3-2+2x

=x+1




18. 0<a<19®, /2-a)?- \/ila—1)? & AttstA?

@a @ 3a-2 ® -3a+14
@ -5a+3 ® a-3

O<a<19f,1<2-a<2, —-1l<a-1<00]B&
(FA) =12-al - |2(a-1)|

=(2-a)-{-2(a-1)}

=2—-a+2a-2

=a




19. 0<x<24 4,
VT - OB+ B & ] o

(@)x @ 4-x ® x+4
@ 3x+4 ® 4-3x

0<x<29A —x<0,x-2<0,2-x>0
VP~ TP+ /TP
=—(-x)-{-(x-2)}+(2-x)
=x+(x-2)+2-x)=x




20. 5<a<b ¥, Ja-b2-/6-a2+ /(b-5)2 & 3]

SHA?
DO -2a+12 @—2a+2b ®0
@ 2a-12 ® 2b-12

B

a<boAXa-b<0

5<alA5-a<0

5<bolAb-5>0

(FolR A) =-(a-b)-{-6-a)} + (b-5)
=-a+b+5—-a+b-5
= —-2a+2b




21.

0<a<5Qu, Va2 +15-da— /(a—6)2 2 71H3]

x 9 2GS Lehict)

@Da—l @ a+1

@ 2a-3 ® 2a-1

B

® 3

0O<a<b59Ya>0,5-a>0,a-6<0
Va2 +|5-al- /(a—6)2

=la| +15—al —|a - 6]
=a+b-a+a-6

=a-1




O -2x-3 @ -2x-1 ® 3

@ 2x-3 ®)2x-1

B

“1<x<24<d,
-3<-x-1<00°]20<2-x<30/B2
S (GO A) = x—1- 2 - A

= —(~x-1)-(2-%)

=x+1-2+4+x

=2x—-1




23. <1 OrD2 - - 12 & e ok

© 2 @ -2 ® x+2 @ -2x ®)2x

x<1olBE2 -1<x<1
x+1>0,x—1<00°|2=2
VE+1)Z- /x-1)2 =x+1+x-1=2x




24. -l1<a<2¥9d, J(a+1)2+ /(a-2)?+a-3 &3] 5FH?

@a @ 3a-4 ®0
@ a-6 ® 3a+1

“1<a<29Xa+1>0,a-2<00°E2=2
(=X)=a+1-(a-2)+a-3=a




25.

A% a,b ol toted a > 0,6 <0 2 ©, VaZ - |b| +

® 2b

(a—b)? =

a>00%E& Va2 =g

a>0,b<0°22 \/(a-b2=a-b

(EH)=atbta-b=2a




26. x o @l x>0 W, \/x i 1)?+ /(x D2 & 7FeHa] 51w?

® 3 @)2x+5 ® x+5
@ 2x ® x-3

x>00]2g
VE+1)2+ /(x+4)2=(x+1)+ (x+4)
=2x+5




@® 3 @ x+3

@ 2x ®)2x+3

Va2 4+ /(x+3)2 =x+ (x+3)
— 2% 3




28. -l<a<2 ¥, o} A& 7Hd3] sHA?
V(@-2)2 - /(a+1)?
@ a-3 ® -2a-3 @—2a—|—1

@ 3 ®1

B

V(@-22- /(a+1)?
=—(a-2)-(a+1) (- a=2<0,a+1>0)
=-at+2-a-1

=-2a+1




29. 3<a<44¥9 ™, J4-a?+ /(@a-3)2- /9

(a2 &
SHA?

® a-11 @ 2a-11 ©3a—11

@ 4a-11 ® ba-11

3<a<490|B=2
4-a>0,a-3>0,a—4<0o°|th
() =4-a)+ (a-3)+3(a—4) =3a-11 °|t}.




30.

2<x<39®, /(x+2)2- /(x-3)2+23-x &
2},

3] sfed

> E:
> &HE: 5
—2<x<34d,

Vx+2)2- /(x-3)2+23-x
=x+24+x-3+6-2x=5




31. a, b, c7ta>0,b>0,c>0°2, c>b>a¥Q W, /(a-b)?-
V(b—c)? = \/(c—a)? = 25| 5FH?

@ a+b+c @ a-b-c @2[)—20
@0 ® 2a-2b

B ~
a-b<0,b-—c<0, c—a>00°B&
Vi@a-b)?2-/(b-c)?- \/(c-a)?
=—(a-b)-{-(b-c)} - (c-a)




32. 2<x<y<0@, & FrE BT L2W?

Q@ V(2-x)? © -/(x=-2)2
© (2+y)? ® -v()?
@ -0b-2)?

ORQ ON®) ® 6 @)9.6 © 66

@O-2<x<y<0°E22<2-x<4
=2< \/m:2—x<4
O-2<x<09%9EB2 4<x-2<-2
=5 -4<x-2<-2
©-2<y<0°B20<y+2<2
=0< \/mzy+2<2
®2<y<0°ERZ0<-y<20

> 2<-y/[OP = () =y< 0

@-2<y<0°82 4<y-2<-2




33. #El4a b7t -1<a<0,ab =125 o,

(a+ 1)+ (a-2) o me 7ot
-
> Het: -2

a

B

1 1 1
b=>,-1<a<0°E2&2a+~-<0,a-~->0
a a a

o) o = ler ) e)




